D/
\\\
S
’\a

o

BMM-RSZ

S

JOy)IAE—3=P

y




@ o ; # g (B &
R B LT # L1 J— FNo P
AYbY—-TAYyIIRY—Z=SP 7TU310-13000 1
1T IMUYSTTSTy bk 1
2 |R>& A (BUN-20) 1
3 | R=n—=FL—+F 1
4 (YSaxy M8 X 25/P1. 25 2
5 |INRYHR M8 2
6 |Fvhk M8/P1. 25 2
7 |ARILE M10X35/P1. 25 2
8 |HRILb M10X50/P1. 25 2
9 INRYHR M10 4
10 |aH4Fv bk M10/P1. 25 2
1 |Y+EYFRILE  M4X40/P1.5 1
12 |Fyhk M14/P1.5 1




